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ECONOMICS

Paper : ECO-HC-6016
( Indian Economy—II )

( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate Jull marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10
O SRS R e webrE T fia

(@) Mention one objective of Indian fiscal
policy.

SIS IECFAY e GBr Srwen TeE 741 |

(b) What is repo rate of the RBI?
S e @ @’ @ 52
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(2)

State one direct instrument of Indian
monetary policy.

S JGINST OT SO W=eT SCary T4 |
What is meant by ‘financial inclusion’?

Re TEveF’ T & & T/ 2

Give the meaning of ‘Foreign Direct
Investment’.

ore (IO Rrcaerd =i fe |

What is capital formation in
agriculture?

o o o161 52

Give the meaning of ‘minimum support
price’ of agricultural produce.

FRwr AR e e 3=0'q wY o |
State one reason for the growth of
service sector in India recently.
Ao FR© SRSY CRNGT [ITH 961 FH4
TeEd 41

What is agricultural productivity?

FRY TeAmETel 2

Mention one method of public sector
disinvestment.

T 29d ARAGEET 961 fém S <4 |

( Continued )

(k)

(3)

Define the concept of ‘sustainable
agriculture’.

T2 PRI YRACHR T Tl |

() What is diversification of industries?
S ferssd 2

(m) State one main objective of the
Minimum Wages Act, 1948 by the
Indian Government.
Y58 TS SR HIFIE 2496 1 ey g1
W2 61 Jo1 Seae ) TeEy 91 |

(n) What kind of manufacturers are called
small-scale industries?
& @ Teomes FEgred Sooel I R
[ ?

(o) Define monetary policy.
T e eer fa |

2. Answer any five from the following questions

in brief :

woTs A e R e <fobr o T f

(a) Distinguish between fiscal deficit and
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primary deficit.

IR TN o Afie Wb oo 1w
e Far1
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(4)

Write two characteristics of small-scale
industries.

B SC15E 61 CIFET ot |

Write two merits of GST.
GST 9 701 41 foran |

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy.

g 7 SRoE wLAee Rgmaas oo
S HoE SeEd 91|

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

N T T TR T SRS W T
%41 R CICaT o1 Mew fard |

Tertiary sector in India employs two
different kinds of people. Who are
they?

SR GRS 1 FA @R e s

FE | (OSER FH ?

( Continued )
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(g} Mention two objectives of the National
Competition Policy of India.

SRed g AfecferEe MfeT 1o S
Sy 4

(h) State any two problems of Public Sector
Enterprise of India.

Oqeq AwA 1% SR @I 7o T
Teay 40|

Answer any four from the following
questions : 5x4=20

oo Al SR R e SRR e fian

(@) Explain any five instruments of fiscal
policy in India.
ST IECFRE Aeq W e =Amoor sfe
QAR =401

[p) Discuss the tools of monetary policy
of India.

ST JHIANSA SREAPTYZ AT 1 |

() Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

F9e OSERA Sesffte ARAN oS Iem
ffrosaad Sl 5991d IR ATICER I
391 |
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4. Answer any four from the following

(d) Point out the various labour policies
of India. questions : 10x4=40
o ] PTRI [/ CRICA] pifRoR Teg fwar -
e fifen =¥ iR srgfmiz f | o) 4
(a) Critically discuss the role of agriculture
(e} Workers are exploited in the in the economy of India. 10
E‘_org?“iie‘g?ecmr‘ Dolvoiasteciwit SReH eAfTe R Pl FCABAEFSI
is view? Give reasons in support of ST 9 |
your answer.
SRefe 4ed ’.‘Iﬁﬁs’i{i cifs = | o @ (b) Discuss the problems and remedies of
small-scale industries of India. 5+5=10
o 22 I ? ONR Ted AT I
S| SRS HY TWIPHEE P WE T
CAANR S 41 |
1j] What‘ is agricultural mecha_nization? () What is service sector? Analyze the
Exl?laln the role of technology in Indian performance of service sector of India
agrlculture. dul-ing pOSt 199053' 2+8= 10
R P 2 oSeH IR pfeRmr GG f$2 Ssvo Ty Pee SRed ERNGT
il T 4 | PR F1e Rearss 741 |
g (d) Explain the role of foreign investment
(g) ?)1scuss~T 'fhe T‘ole of small-scale in the economy of India. 10
industries in Indian economy.
SR Hiifee (AR R SRS T
ooy HAfeS TG SR SR ScEw eIl
| _
(e) Give an outline of the various
(h) Point out the main features of Indian macroeconomic policies of India. 10
tax system. ooy [few e wHafes AT eoRe
SR 9 T 1 AT g f | s
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(/) Give an assessment of the Government
policy towards foreign investment. 10

Wi Rffa R cvae soRe Tifte o
JEE SASRCOHT |

(9) Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10

S J@Aifed RS seiRammz wigfmi i |
SRR fRTRE e Rege orampef i |

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural

productivity. 6+4=10
SR FRI W o FRPR W 40 |
RO STl B A S e
izl

() Discuss the role of public sector
industries in the economic development
of India.

10
SOY SNAF TS e e o
PRI ST <547 |
() What is agrarian structure? Outline the
agrarian structure of India. 4+6=10
HICEATFTO 4 |
* % %
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